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a)y MIRE Qogml) NOEHETAOICIhEELTVWA :  t,2=3(h)
b) A = In2/ty» = 0.693/3 = 0.231 (W) — 0.23 h”

o) V= &5 &/FRIL =500/2=250 ()
(0.5 mg = 500 pg; 2 ng/m/ = 2 pg/)

2(a jc b le
B2 1[50 2 fMi2NT: eN=e""=(1n)Y=14
BEH-YVONMBR: V=4x50=200() D/V=150/200 = 0.75 (mg/]) = 0.75 (ug/m/)
A = In2/t,» = 0.693/6
Crsma = Cot = 0) = DIV/(1 - ™) = 0.75/(1 - 1/4) = 1.0 (ug/ml)
Cuomin = Cse(1= 12 h) = Cpymume™ = 1.0 x 1/4 = 0.25 (ug/ml)
Cooae = AUC/T = (FI1RBEYAT = (D/VY/AMT = 0.75/(0.693/6)/12 = 0.541 — 0.54 pg/mi
2 |Di/V = Cyo
Di = Ciman V = 1.0 x 200 = 200 (ng)
B9 3 [ 1 {a) CL. = DiW/AUC,, = 200/2.5 = 80 (/h)

b) CLy = Aj m/AUC;, = 160/2.5 = 64 (I/h) ¢ o m
¢) CL; = CLyg - CLy = 80 - 64 = 16 (¢/h)

a) Apo. = CLAUC,, = 16 x | = 16 (mg)
b) RBM P EEE OB : Apw=CLAUC, =64 x | =64 (mg)
A= Apo,mc‘ Apo.m =260-64 =196 — 200 mg

a) F = (AUCpo/Dgo(AUCWD5,) = (1/500)/(2.5/200) = 0.16
b) ¥R R = Apome + Apoe = 260 + 16 =276 (mg)

F, = (WL R YD, = 276/500 = 0.552 — 0.55
c) By = Arn/(BRUUL &) = 196/276 = 0.710 — 0.71
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2 | a |well stirred bIRAZ Y 7T ||t diQ e |fLi
A
M6l |RYemEE =C,GFR+S
2.6 =0.004 x 120+ S
S =2.12 (mg/min) — 2.1 mg/min
(4 pg/m/ = 0.004 mg/m/)
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BRE (mg/md)
m7l1|251 2|14h 3119mg 4 10.69 iMh/kg 514 lm
6125/m 7 {0.88 pg-vm/ 8122 mg/h 935 /h 1023 h
mglt|x 210 310 410 5|x
6|x 7% 810 9x 10|10




